



































































 

Ext 3 2 5 t 4 et 3

Gsc 1 15 tax t 12
10 1 27

Ex2 7 2 3 4G 5

14 21 4 20

10x I

Ex3 x 3 xtc

It 3 4 12 x I the

22 t x t 12 µ4 tax 12

Exe 2g 1 yts

2cg y 10g 5

2y2t9y 5

Exercise
1 at 6 Catz

x Gx t Zz t 12

I t 8K t 12

Expanding and Simplifying

Multiplying Brackets



2 2yt3 3yt2
65 9g ay 6

65 1 By 6

3 x 5 x 7

22 5 7 35
22 t Zx 35

4 2x 1 2 3
4 2 2x Gx 3
ax tax 3

5 3p 2 p a

3p2 Zp 12 p t 8

3p2 lap 8

6 4ptq 2ptq
8p2tZpqt4pqtq

8pZ 6pq q2
7 3k 5 44 3

1242 20kt 9K 15

12km Ilk 15


